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3
1. The reciprocal of-4 is

(i) (-2) (ii) ! (iii) 3-1 (iv) 2-1 (v)
(5 ) 5 (i) 35 (v) 25 (v

3
2. The additive inverse of-8 is

(i) (-_3) (i) 0 (iii) o (iv) (-1-3) (v) -
8 3 8 -3

2
3. The multiplicative inverse of-7 is
(')51 (")21 (iii) 11 (iv) ’ ()41
[ - ii - iii - iv) — (v -
2 2 2 2 2

4. Which of the following are true?

b)15 71 _71 15
16 17 17 16
1 142 142 1

X - =. X -
11 17 17 11

d 1 71 71 1

+— =+
11 17 17 11
(i) {c.d} (i) {a,b,c} (i) {a,c} (iv) {adc} (v) {b.d}

5. Which of the following are true?

a) 3 181 13 3 181 13
= X (= X = )=(== X =— )X
20 19 5 20 19 5

b) 14 181 17 (14_181)_17
19 19 7 19 19 ' 7

¢ 14 81 19 14 81 19

— (S -)=lg - )-—

19 14 9 ° ‘19 14° 9

d) 3 81 15 3 81
()= (o )+
20 14

20 14 14 14

(i) {a,d} (ii) {c,d} (i) {b,c,a} (iv) {b,a} (v) {b.,d,a}



6. Which of the following are true?

a 27174 2 4 17
b)3 121 7 3 121 7
HE )= T4 (S )
4716 3 "4 16 3
€2 25 19 2 25 19
X ( - =(- X )—(= X )
372 117 '37 2 11
d) 121 17 2 121 2 17
X ( )=(=X- )+ (= X
3716 15° '3 16 15

(i) {a,c} (ii) {c,d} (i) {ab,c} (iv) {b,d} (v) {ad,c}

7. Which of the following are true?

a
b
C
d

) 7+13=13+7
)2-7=7-2
) 9+2=2+9
) 13x9=9x%x13

(i) {b,d} (i) {a,b,c} (iii) {c,d} (iv) {a,d,c} (v) {a,c}

8. Which of the following are true?

a) 18+(19+14)=(18+19)+14
b) 14+(11+18)=(14+11)+18
C) 19%(14%x11)=(19%x14)x11
d) 11-(18-19)=(11-18)—-19

(i) {b,c} (i) {a,d,b} (iii) {a,c,b} (iv) {a,b} (v) {d.,c}

9. Which of the following are true?

a) 8—(11x10)=(8—-11)x(8-10)

b) 10x(14+8)=(10x14)+(10x8)
C) 14x(8—-11)=(14%x8)—(14x11)
d) 11+(10+14)=(11+10)+(11+14)

(i) {d,c} (i) {a,c,b} (iii) {a,b} (iv) {b,c} (v) {a,db}

10. Which of the following is true?

a
b
d
d

) 4.9800—3.7100=3.7100—-4.9800
) 12.5600+4.9800=4.9800+12.5600
) 6.6000%12.5600=12.5600%6.6000
) 3.7100+6.6000=6.6000+3.7100

(i) {b,c} (i) {a,c,b} (iii) {d,c} (iv) {a,b} (v) {a,d,b}

11. Which of the following is true?

a) 11.3800%(4.3400%18.2600)=(11.3800%4.3400) x 18.2600
b) 17.2700+(11.3800+4.3400)=(17.2700+11.3800)+4.3400
c) 18.2600—(17.2700—11.3800)=(18.2600—17.2700)—11.3800
d) 4.3400+(18.2600+17.2700)=(4.3400+18.2600)+17.2700

(i) {a,d} (ii) {c,d} (i) {b,d,a} (iv) {b,c,a} (v) {b,a}



12.

13.

14.

15.

16.

17.

18.

Which of the following is true?

a
b
C
d

) 6.3700%(9.5900—-16.7500)=(6.3700%9.5900)—(6.3700% 16.7500)
) 16.7500+(5.4400+6.3700)=(16.7500+5.4400)+(16.7500+6.3700)
) 5.4400%(6.3700+9.5900)=(5.4400%6.3700)+(5.4400%9.5900)

) 9.5900—(16.7500%5.4400)=(9.5900—16.7500) X (9.5900—5.4400)

(i) {b,d,a} (i) {d,c} (iii) {a,c} (iv) {b,c,a} (v) {b,a}

Which of the following are true?

a) whole numbers are closed under multiplication
b
C
d

whole numbers are closed under subtraction
whole numbers are closed under division

)
)
)
)

whole numbers are closed under addition

(i) {a,d} (ii) {c,d} (i) {b,c,a} (iv) {b,d,a} (v) {b,a}

Which of the following are true?

a) integers are closed under division

b) integers are closed under multiplication
c) integers are closed under addition

d) integers are closed under subtraction

(i) {a,c} (i) {a,d} (iii) {b,c,d} (iv) {a,b,c} (v) {a,b}

Which of the following are true?

a
b
C
d

rational numbers are closed under multiplication
rational numbers are closed under subtraction
rational numbers are closed under division
rational numbers are closed under addition

)
)
)
)

(i) {a,b,d} (ii) {c,b} (iii) {c,a,b} (iv) {c,d} (v) {c,a}

Which of the following are true?

a
b
d
d

real numbers are closed under multiplication
real numbers are closed under addition

real numbers are closed under subtraction
real numbers are closed under division

(i) {d,a} (ii) {d,a,b} (iii) {d,b} (iv) {d,c} (v) {a,b,c}

The additive inverse of ( 5 ) is

(i) > (i) 2 (iii) 2 (iv) 1'1 (v) O
oo i (i) o (iv) 1o (v

1
The multiplicative inverse of 9 is

(i) 11 (ii) 10 (iii) 8 (iv) ? (v) 7



19. Which of the following are true?

20.

21.

22.

a)

b)

a
b
¢
d

11 59 59 11
10 6 6 10
17 59 59 17
X - =. X -
13° 6 6 13
17 78 78 17
+oo= 4
13 11 11 13
11 78 78 11
10 11 11 10
(i) {a,d,b} (ii) {b,c} (i

)
)
)
)

(i) {a,b} (ii)

2+11=11=+2
8+15=15+8
15-2=2-15
11x8=8x11

{b,d}

(iii)

i) {d,c}

Which of the following are true?

Which of the following are true?

{a,d,b}

(iv)

{a,b} (v)

a) 18 23 11, 18 23 11
7 "6 177 "7 6 ' 17

b)18_ 89 5, 18 89, 5
7 20 18 "7 20 18

c) 20 89 7 20 89 7
- +(. = - - )+.

3 20 3 3 20 3

d) 20 23 6 20 23 6

X(— X =)= ) X
3 6 5 3 6 5

(i) {c,d} (i) {b,d} (iii) {a,b,c} (iv)

Which of the following are true?

a) 1 11 13 1 11 1 13
=X+ )=(o X )+ (- X—)
8 6 9 8 6 9

b) 5 68 12 5 68 5 12

—( X —)=(—2——7)%X(—=—
16 11 19 16 11 16 19
c) 1 68 9 1 68 1 9
X(oo =2 )=(- X )— (- X )
8 11 16 8 11 16

d 5 11 12 5 11 5 12
— ()= (o ) (o)
16 6 11 16 6 16 11

(i) {b,d,a} (i) {d,c} (iii) {b,a} (iv) {b,c,a}

(iv) {c.d} (v)

(v)

{a,c,b}

{a,c} (v) {a.d,c}

{a,c}

{a,c,b}



23.

24.

25.

26.

27.

Which of the following are true?

a
b
C
d

) 3+(12+6)=(3+12)+6

) 12%x(6X13)=(12%6)X%x13

) 6+(13+3)=(6+13)+3

) 13—(3-12)=(13-3)-12

(i) {b,c} (i) {a,c,b} (i) {a,b} (iv) {d,c} (v) {a,d,b}

Which of the following are true?

12— (3%x5)=(12-3)%(12-5)
5X(8+12)=(5%x8)+(5%12)
3+(5+8)=(3+5)+(3+8)

8% (12—3)=(8%12)—(8x%3)

(i) {b,d} (i) {a,b} (i) {c,d} (iv) {a,c,b} (v) {adDb}

Which of the following is true?

a) 16.1200—12.0600=12.0600—16.1200
b) 10.6800+16.1200=16.1200+10.6800
)

)

d

12.0600+8.7000=8.7000+12.0600
8.7000%10.6800=10.6800%8.7000

(i) {c,d} (i) {a.d,b} (iii) {a,b} (iv) {a,c,b} (v) {b,d}

Which of the following is true?

a
b
o
d

) 9.7500—(6.9800—14.5000)=(9.7500—-6.9800)—14.5000
) 6.9800+(14.5000+11.4400)=(6.9800+14.5000)+11.4400
) 14.5000%(11.4400%9.7500)=(14.5000%11.4400)%9.7500
) 11.4400+(9.7500+6.9800)=(11.4400+9.7500)+6.9800

(i) {a,b,c} (i) {c,d} (iii) {b,d} (iv) {ad,c} (v) {ac}

Which of the following is true?

a
b
C
d

) 10.7600%(5.1400+11.9100)=(10.7600%5.1400)+(10.7600%11.9100)

) 11.9100—(19.2400%10.7600)=(11.9100—19.2400) % (11.9100—-10.7600)
) 5.1400%(11.9100—-19.2400)=(5.1400%11.9100)—(5.1400%19.2400)

) 19.2400+(10.7600+5.1400)=(19.2400+10.7600)+(19.2400+5.1400)

(i) {d,c} (i) {b,d,a} (iii) {a,c} (iv) {b,a} (v) {b,c,a}



Assignment Key

1) (v) 2) (i) 3) (iv) 4) (i) 5) (i) 6) (ii)
7) (iii) 8) (i) 9) (iv) 10) (i) 11) (i) 12) (iii)
13) (i) 14) (iii) 15) (i) 16) (v) 17) (i) 18) (iv)
19) (ii) 20) (i) 21) (v) 22) (ii) 23) (i) 24) (i)
25) (v) 26) (ii) 27) (iii)
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